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(e}  Table 3 shows the wages of 80 employeas of a certain company.

Table 3
Wages Ksh. 000" | Number of employees
10-15 3
15-20 £
20 - 25 17
25 - 30 20 ek
30-35 y :
» 35-40 16
40 -45 4
Civen that the median wage is Ksh. 27,0080, caleulate the: -~
|
(i) valucs of z and y;
{ii)  upper quartile wage. <
00 (7 marks)
5. ()  Bumte four characteristics of a{&%mn s distribution. (4 marks)

’”"z
{b)  Table 4 shows the iﬂﬁé@&]ue and advertisement expenditure of Udote Enterprises.

Table 4

Advertisement
Ksh. ‘008 r

Sales Ksh.*000 i} 50 [ 64 | 66 | 70 | 76 | 82 [ 86 | 90 |94 96

40 144 | 48 142 | 5D ]| 54 |52 )] 56|58 |62

(1) Using the least squares method, determine the equation of regression line of
sales reverue on advertisement expenditure.

(i)  Using the equation obtained in ¢ (i), estimate the sales revenue when Ksh. 9,600
1% spent on advertisemen.
(11 marks)

{c) Aﬁ:mhns aa:dﬂndfurtwnmmlmﬂmdﬂ- The probability of winning contract A is
* and that of winning contract B is = =, Determine the probability of winning:

(i) - contractA or B;
(ii) ot least one contract.
(5 marks)
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G, {a)

(b

Outline four merits of mean deviation, {4 marks)

Table 5 shows the distribution of lengths of a mndom sample of 19 rodys taken from a
Targe batch.

Table 5

Lengths (in cm) 0-4| 5-9 | 10-14 | 15-19 | 20.24 | 25-29

Freguency 4 3

Assuming the lengths are normally distributed. determine the 95% confidence interval

for the meéan length of the population. (12 marks)
E-":;‘:_ e T
(¢}  State four limitations of the census method of data eollection. Ry {4 marks)
| ta)  The diameters of test tubes mamefactured in a factory are normally distributed with a
mean of 70 mm and o standard deviation of 8 mm. Determine the:
(1 probability that a test tube ﬁmdnm will have a diameter between
- T4 mm and 80 mm; X The =90
Q) At . r & v ol
¢ (i1} pmputmnarmtmbei\vhlmhw:mmlhmﬂﬂmmmmrmmwm-
(iki} nunﬂxrufmatnﬁb{?m:hmlﬁalyluhavelmﬂlﬂnlﬂmmuutufﬂmﬁﬂﬂ
test tubes which were supplied to & certain store.
{12 marks)
(b)  Table 6 shows the age distribution of 600 students studying in a city commercial
college.
Table 6
-1 a T 5 | L oF £ =
Age in years 20-24 [25-29|30-34 |35-39 | 40-44 | 45-49 | 50-54
No. of students 30 6 105 160 124 13 32
{ (1) Construct a histogram to represent the data,
(ii) Lhmglhehmummlnh{}wmumndﬂm
= .’.TI""—“- (B marks)
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(nagative)
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Twi toils
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EriHcal ¢ scome — Crbicol ¢ score Critical £ 8o

(posites) - {mecrlive)

{posicha)

=
005 01 025 05 25 5
Degrees {one tail) (ome tail) (one tail) {one tail) {one tail)
of 01 0z 05 A0 S0
freedom | {twotails) | (rwotalls) | (twotsils) | {two tails) (two tails)
1 61657 31.821 1708 4> 63 1.000
2 9,925 5965 4.303 (:}Of 2.920 816
3 5841 4541 3% 2.353 765
3 4604 3747 : 2132 741
5 4.032 3365 NLSTI 2015 by
6 3700 3.143 & V2447 1543 718
7 3500 299 oI 238 1495 711
B 3358 2,896 2306 1,560 706
a 3250 2821 2262 1833 703
10 3169 2.764 2228 1812 100
11 3.106 2718 2201 1.796 £97
12 3,054 2681 2179 1.782 £06
13 p12 2450 1,160 { Bo g} 554
14 2977 2.425 2.145 1.761 £92 —
15 2.947 2602 2i3:2 1753 £91 ]
16 2021 2.584 2120 1746 #%0
17 21498 2.567 2.110 1.740 ARG
15 1518 1552 2101 L7134 488
19 1,861 1.540 2093 1,729 SER
20 2845 1528 2086 1,725 BET
21 2831 2518 2080 1734 HE6
22 1819 2.508 2.074 1717 586
23 2.807 1500 2059 1714 B85
24 2797 L1agz 2064 1211 B85
25 2.787 2485 2,060 1708 B4
26 27719 2479 2056 1,706 e AES
17 1771 2473 2.05 1703 =ie, Bk
i3 2783 267 048 170 A
29 1756 24562 2.045 1689 633N
Large (7) 1575 2327 1960 pags  ef 111.;1 M‘f s —tj
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